Turk. J. Math. Comput. Sci. 14(2)(2022) 292–305 © MatDer DOI : 10.47000/tjmcs.1136596



Inverse Scattering Problem for the Sturm-Liouville Equation with Infinite Range of Discontinuous Conditions

RAUF KH AMIROV^{1,*}, SELMA GÜLYAZ ÖZYURT¹

¹Department of Mathematics, Faculty of Science, Sivas Cumhuriyet University, 58140 Sivas, Turkey.

Received: 27-06-2022 • Accepted: 20-08-2022

ABSTRACT. In this paper, we construct the new integral representation of the Jost solution of Sturm-Liouville equation with impuls in the semi axis $[0, +\infty)$ and we give this type of relation, examine the properties of the Kernel function and their partial derivatives with x and t, constructed integral representation and obtain the partial differential equation provided by this Kernel function. Finally, in the paper we prove uniqueness of the determination of the potential by the scattering data.

2010 AMS Classification: 34A55, 34B24, 34L05

Keywords: Impulse conditions, inverse problem, kernel, integral equation.

1. INTRODUCTION

The boundary value problems for Sturm-Liouville equations with discontinuities inside the interval often appear in mathematical physics, geophysics, electromagnetic, elasticity and other branches of engineering and natural sciences. For example, we take a rod consisting of two homogeneous parts that have different modules of elasticity with cross section and connected at the point x = a. The vibration problem of this rod can be expressed as follows

$$\begin{aligned} \frac{\partial^2 u(x,t)}{\partial t^2} &= \frac{\partial}{\partial x} \left(\rho(x) \frac{\partial u(x,t)}{\partial x} \right), \quad x \in (0,a) \cup (a,+\infty), \ t > 0, \\ u(0,t) &= 0, \\ u(a-0,t) &= u(a+0,t), \\ \rho(a-0)u_x(a-0,t) - \rho(a+0)u_x(a+0,t) &= Mu_{tt}(a,t) \ , \end{aligned}$$

where *M* is a condensed mass at point x = a, $\rho(x)$ is the coefficient of elasticity of the rod and the piecewise continuous function

$$\rho(x) = \begin{cases} 1, & x < a, \\ \alpha^2, & x > a. \end{cases}$$

Moreover, the boundary value problems with discontinuities in an interior point arise in geophysical models for oscillations of the Earth [19, 20], in heat and mass transfer problems [7] and in vibrating stirring problems which an interior point is under the action of a damping force [12], in addition, for the various applications of discontinuous boundary value problems, the works [5,9, 10, 13, 24–27] can be given. From the point of view applications in quantum

^{*}Corresponding Author

Email addresses: emirov@cumhuriyet.edu.tr (R. Amirov), sgulyaz@cumhuriyet.edu.tr (S. Gülyaz Özyurt)

This work is supported by the Scientific Research Project Fund of Sivas Cumhuriyet University under the project number F-581.

mechanics [23], of interest is the study of direct and inverse problems for the Sturm-Liouville differential equation on a semi axis $[0, +\infty)$.

In recent years, Sturm-Liouville problems with discontinuity conditions (or transmission conditions) at interior points of the interval and semi axis $[0, +\infty)$ began to attract a great deal of attention because of the application of these problems in physics, mechanics and engineering. Hereby, this type of problems were widely investigated by many authors, also the investigations were continued and developed in many directions. For example, some aspect of the direct spectral problems were studied in [1-4, 6-10, 12-23] and the references therein, moreover, the inverse spectral problems (according to Weyl function and/or spectral data and etc.) are examined in the works [4, 7-9, 22] where further references can be found. In particular, in the paper [11] on noncompact A-graph consider scattering problem for Sturm-Liouville operator with standard matching conditions in the internal vertices with the following continuity condition $\lim_{x\to v,x\in intr} y(x) = \lim_{x\to v,x\in intr'} y(x)$ for any two edges $r, r' \in I(v)$ and establish some properties of the spectral characteristics and investigate the inverse problem of recovering the operator from the scattering data and uniqueness theorem has been proven according to the Weyl function for such inverse problem.

In this present paper, as different from other studies, we construct the new integral representation of the Jost solution of Sturm-Liouville equation with discontinuity conditions in the semi axis $[0, +\infty)$. In the special cases with discontinuity conditions in the point $x = a \in [0, \pi]$, the integral representation for the Sturm-Liouville equation is obtained in [4] and solved inverse problems by the spectral data and by the Weyl function. By the way, we note that the integral representations and transformation operators or used for the solution of inverse problems of spectral analysis, especially, the relation between the potential function of the problem and the kernel function of the integral representations and transformation operator plays the central role in the solution of the inverse problems. Therefore, in this paper, we give this type of relation , examining the properties of the kernel function and their partial derivatives with x and t, constructed integral representation and obtain the partial differential equation provided by this kernel function. Additionally, unlike the other works [8, 11, 16], it is shown that the kernel function is real valued and has a discontinuity along the line t = 2a - x for x > a. Finally, in the paper we prove uniqueness of the determination of the potential by the scattering data.

2. Preliminaries

Consider the boundary value problem generated on the semi axis $0 \le x < \infty$ by the differential equation:

$$l(y) := -y'' + q(x)y = \lambda^2 y,$$
(2.1)

with discontinuity conditions at a point $a \in (0, \infty)$

$$y(a-0) = \alpha y(a+0), \quad y'(a-0) = \alpha^{-1} y'(a+0),$$
(2.2)

and boundary condition

$$y(0) = 0,$$
 (2.3)

where α ($\alpha > 0, \alpha \neq 1$) is a real constant, λ is a complex parameter, q(x) is a real valued function with

$$\int_{0}^{\infty} x |q(x)| \, dx < \infty.$$

We call the Jost solution of the equation (2.1) with conditions (2.2) the solution $e(\lambda, x)$ satisfying the condition at infinity

$$\lim_{x \to \infty} e(\lambda, x) e^{-i\lambda x} = 1.$$

Let us denote

$$\sigma(x) = \int_{x}^{\infty} |q(s)| \, ds, \qquad \qquad \sigma_1(x) = \int_{x}^{\infty} \sigma(s) \, ds.$$

It can be easy shown that if $q(x) \equiv 0$, then the Jost solution is

$$e_0(\lambda, x) = \begin{cases} e^{i\lambda x}, & a < x, \\ A^+ e^{i\lambda x} + A^- e^{i\lambda(2d-x)}, & x < a, \end{cases}$$

where $A^{\pm} = \frac{1}{2} \left(\alpha \pm \frac{1}{\alpha} \right)$. The following theorem and lemma are obtained from [3] by some formal changes.

Theorem 2.1. [3], Theorem 1.] Equation (2.1) with the discontinuity conditions (2.2) has the Jost solution $e(\lambda, x)$ which is represented as

$$e(\lambda, x) = e_0(\lambda, x) + \int_x^{+\infty} K(x, t) e^{i\lambda t} dt$$
(2.4)

for all λ from the closed upper half plane $Im\lambda \ge 0$. Here the kernel K(x, t) satisfies the inequalities

$$|K(x,t)| \le \frac{c}{2}\sigma\left(\frac{x+t}{2}\right)e^{c\sigma_1(x)}, \quad 0 < |x-a| < t-a,$$
(2.5)

$$|K(x,t)| \le \left\{ \frac{c}{2} \sigma\left(\frac{x+t}{2}\right) + \frac{|A^{-}|}{2} \sigma\left(\frac{2a+x-t}{2}\right) \right\} e^{c\sigma_{1}(x)}, \quad |t-a| < x-a,$$
(2.6)

where $C = A^+ + |A^-|$. Moreover, the function K(x, t) is continuous at $t \neq 2a - x$, $x \neq a$ and the following relations are satisfied:

$$K(x,x) = \frac{A^{+}}{2} \int_{x}^{\infty} q(t)dt, \quad x < a,$$
(2.7)

$$K(x, x) = \frac{1}{2} \int_{x}^{\infty} q(t)dt, \quad x > a,$$
(2.8)

$$K(x, 2a - x + 0) - K(x, 2a - x - 0) = \frac{A^{-}}{2} \left(\int_{a}^{\infty} q(t)dt - \int_{x}^{a} q(t)dt \right), \quad x < a.$$
(2.9)

There exists both first order partial derivatives of the function K(x, t) when $t \neq 2a - x$, $x \neq a$. In addition

$$\begin{aligned} \frac{\partial K(x_1, x_2)}{\partial x_i} &+ \frac{1}{4}q\left(\frac{x_1 + x_2}{2}\right) \le \frac{1}{2}\sigma(x_1)\sigma\left(\frac{x_1 + x_2}{2}\right), \ x_1 > a, \\ \left| \frac{\partial K(x_1, x_2)}{\partial x_i} + \frac{A^+}{4}q\left(\frac{x_1 + x_2}{2}\right) + (-1)^i \frac{A^-}{4}q\left(\frac{x_2 + 2a - x_1}{2}\right) \right| \\ &\le \frac{C^2}{2}\sigma(x_1)\sigma\left(\frac{x_1 + x_2}{2}\right)e^{C\sigma_1(x)}, \ x_2 > 2a - x_1, \ x_1 < a, \end{aligned}$$

$$\begin{split} & \left| \frac{\partial K(x_1, x_2)}{\partial x_1} + \frac{A^+}{4} q\left(\frac{x_1 + x_2}{2}\right) \right. \\ & \left. + (-1)^{i+1} \frac{A^-}{4} q\left(\frac{2a + x_1 - x_2}{2}\right) + (-1)^i \frac{A^-}{4} q\left(\frac{2a + x_2 - x_1}{2}\right) \right. \\ & \leq \frac{C}{2} \left[C\sigma\left(\frac{x_1 + x_2}{2}\right) + |A^-| \sigma\left(\frac{2a + x_1 - x_2}{2}\right) \right] \\ & \times \sigma(x_1) e^{C\sigma_1(x)}, \ x_1 \le x_2 \le 2a - x_1. \end{split}$$

Also note that the kernel K(x, t) and the derivative $K_x(x, t)$ satisfy the following discontinuity conditions at x = a, t > a;

$$K(a - 0, t) = \alpha K(a + 0, t), \tag{2.10}$$

$$K_x(a-0,t) = \alpha^{-1} K_x(a+0,t).$$
(2.11)

If the function q(x) is differentiable, the function K(x, t) has the second partial derivatives and the equation

$$\frac{\partial^2 K(x,t)}{\partial x^2} - \frac{\partial^2 K(x,t)}{\partial t^2} = q(x)K(x,t)$$
(2.12)

is satisfied for $t \neq 2a - x$, $x \neq a$. Moreover

$$\lim_{x+t\to\infty} \frac{\partial K(x,t)}{\partial x} = \lim_{x+t\to\infty} \frac{\partial K(x,t)}{\partial t} = 0.$$
(2.13)

Conversely, if the function is the solution of the partial derivative equation (2.12) with conditions (2.7)-(2.9), (2.10), (2.11) and (2.13) then the function $e(\lambda, x)$ constructed by the formula (2.4) is the Jost solution of equation (2.1) with discontinuity conditions (2.2). Now, we investigate some additional properties of solutions of the equation (2.1) with discontinuity conditions (2.2).

Lemma 2.2. The solution $e(\lambda, x)$ is an analytic function of the variable λ on the upper half plane $Im\lambda \ge 0$ and if is continuous for $\lambda \in (-\infty, +\infty)$. For all λ from the closed upper half plane $Im\lambda \ge 0$ we have

$$|e(\lambda, x)| \le 2C \left(1 + \sigma_1(x)\right) e^{-Im\lambda x + C\sigma_1(x)},$$

$$\left|e'(\lambda, x) - e'_0(\lambda, x)\right| \le 2C^2 \left(1 + \sigma_1(x)\right) \sigma(x) e^{-Im\lambda x + C\sigma_1(x)},$$

$$\begin{split} |e(\lambda, x) - e_0(\lambda, x)| &\leq C_1 \left(1 + \sigma_1(x)\right) \left(\sigma_1(x) - \sigma_1(x + \frac{1}{|\lambda|})\right) e^{-Im\lambda x + C\sigma_1(x)}, \ x > a, \\ |e(\lambda, x) - e_0(\lambda, x)| &\leq \quad C_1 \left(1 + \sigma_1(x)\right) \left[A^+ \left(\sigma_1(x) - \sigma_1(x + \frac{1}{|\lambda|})\right) + |A^-| \left(\sigma_1(2a - x) - \sigma_1(2a - x + \frac{1}{|\lambda|})\right) + |A^-| \left(A^-| \left(\lambda|^{-1} \sigma(a)\right)\right], \end{split}$$

Proof. If x > a then equation (2.5) is satisfied, so from equation (2.4) we have

$$|e(\lambda, x)| \le C e^{-Im\lambda x + C\sigma_1(x)} \left(1 + \sigma_1(x)\right). \tag{2.14}$$

Since the solution $e(\lambda, x)$ also satisfies the integral equation

$$e(\lambda, x) = e_0(\lambda, x) + \int_x^{+\infty} S_0(x, t, \lambda)q(t)e(\lambda, t)dt,$$
(2.15)

where

$$S_0(x,t,\lambda) = \begin{cases} \frac{\sin \lambda(t-x)}{\lambda}, & a < x < t \text{ or } x < t < a, \\ A^+ \frac{\sin \lambda(t-x)}{\lambda} + A^- \frac{\sin \lambda(t-2a+x)}{\lambda}, & x < a < t, \end{cases}$$

then x > a the equation (2.14) takes a form of

$$e(\lambda, x) = e_0(\lambda, x) + \int_{x}^{+\infty} \frac{\sin \lambda(t-x)}{\lambda} q(t) e(\lambda, t) dt.$$
(2.16)

From (2.16),(2.14) and (2.15) we obtain

$$\begin{split} \left| e(\lambda, x) - e^{i\lambda x} \right| &\leq \int_{x}^{+\infty} \left| \frac{\sin \lambda(t-x)}{\lambda} \right| \left| q(t) \right| C \left(1 + \sigma_1(t) \right) e^{-Im\lambda t + C\sigma_1(x)} dt \\ &= \int_{x}^{+\infty} \left| \frac{\sin \lambda(t-x)}{\lambda} e^{i\lambda(t-x)} \right| \left| q(t) \right| dt C \left(1 + \sigma_1(x) \right) e^{-Im\lambda x + C\sigma_1(x)} \\ &\leq \left[\int_{x}^{x+\frac{1}{|\lambda|}} (t-x) \left| q(t) \right| dt + \frac{1}{|\lambda|} \int_{x}^{+\infty} \left| q(t) \right| dt \right] C \left(1 + \sigma_1(x) \right) e^{-Im\lambda x + C\sigma_1(x)} \\ &= C \left(\sigma_1(x) - \sigma_1 \left(x + \frac{1}{|\lambda|} \right) \right) \left(1 + \sigma_1(x) \right) e^{-Im\lambda x + C\sigma_1(x)}, \end{split}$$

i.e.

$$\left|e(\lambda, x) - e^{i\lambda x}\right| \leq C\left(\sigma_1(x) - \sigma_1\left(x + \frac{1}{|\lambda|}\right)\right) (1 + \sigma_1(x)) e^{-Im\lambda x + C\sigma_1(x)}.$$

Similarly from (2.16),(2.14) and (2.15) we find

$$\left|e'(\lambda, x) - i\lambda e^{i\lambda t}\right| \leq C \left(1 + \sigma_1(x)\right) \sigma(x) e^{-Im\lambda x + C\sigma_1(x)}.$$

Let now x < a. In this case equation (2.5) satisfied for t > 2a - x and equation (2.6) is satisfied for t < 2a - x. So, we have from equation (2.4)

$$|e(\lambda, x)| \le 2C \left(1 + \sigma_1(x)\right)^{-Im\lambda x + C\sigma_1(x)}.$$
(2.17)

Further, from the equation (2.15) we have for x < a

$$e(\lambda, x) = A^{+}e^{i\lambda x} + A^{-}e^{i\lambda(2a-x)} + \int_{x}^{a} \frac{\sin\lambda(t-x)}{\lambda}q(t)e(t,\lambda) dt + \int_{a}^{+\infty} \left[A^{+}\frac{\sin\lambda(t-x)}{\lambda} + A^{-}\frac{\sin\lambda(t-2a+x)}{\lambda}\right]q(t)e(t,\lambda) dt.$$
(2.18)

Therefore by (2.14) and (2.17)

$$\begin{split} |e(\lambda, x) - e_0(\lambda, x)| &\leq \int_x^a \left| \frac{\sin \lambda(t-x)}{\lambda} \right| |q(t)| \, 2C \left(1 + \sigma_1\left(t\right)\right) \\ &\times e^{-Im\lambda t + C\sigma_1(t)} dt + \int_a^{+\infty} \left[A^+ \left| \frac{\sin \lambda(t-x)}{\lambda} \right| \right] \\ &+ A^- \left| \frac{\sin \lambda(t-2a+x)}{\lambda} \right| \right] |q(t)| \\ &\times C \left(1 + \sigma_1\left(t\right)\right) e^{-Im\lambda t + C\sigma_1(t)} dt \\ &\leq 2C_1 \left(1 + \sigma_1\left(x\right)\right) e^{-Im\lambda t x + C\sigma_1(x)} \\ &\times \left[A^+ \left(\sigma_1(x) - \sigma_1\left(x + \frac{1}{|\lambda|}\right) \right) \\ &+ |A^-| \left(\sigma_1(2a-x) - \sigma_1\left(2a-x + \frac{1}{|\lambda|}\right) \right) \right] \\ &+ \frac{|A^-|}{\lambda} \sigma(a). \end{split}$$

From the equation (2.18), we also have

$$e'(\lambda, x) - e'_0(\lambda, x) = \int_x^a \cos \lambda (t - x)q(t)e(t, \lambda) dt + \int_x^a [A^- \cos \lambda (t - 2a + x) - A^+ \cos \lambda (t - x)] q(t)e(t, \lambda) dt.$$

So, using again the equation (2.14) and (2.17) we find that

$$\begin{split} e'(\lambda, x) &- e'_{0}(\lambda, x) \Big| \leq \int_{x}^{a} |\cos \lambda(t - x)| |q(t)| 2C (1 + \sigma_{1}(t)) e^{-Im\lambda t + C\sigma_{1}(t)} dt \\ &+ \int_{a}^{+\infty} A^{+} |\cos \lambda(t - x)| |q(t)| C (1 + \sigma_{1}(t)) e^{-Im\lambda t + C\sigma_{1}(t)} dt \\ &+ |A^{-}| \int_{a}^{2a - x} |\cos \lambda(2a - x - t)| |q(t)| C (1 + \sigma_{1}(t)) e^{-Im\lambda t + C\sigma_{1}(t)} dt \\ &+ |A^{-}| \int_{2a - x}^{+\infty} |\cos \lambda(t - 2a + x)| |q(t)| C (1 + \sigma_{1}(t)) e^{-Im\lambda t + C\sigma_{1}(t)} dt \\ &\leq 2C(1 + \sigma_{1}(x)) e^{-Im\lambda x + C\sigma_{1}(x)} \left[A^{+} \int_{a}^{+\infty} |q(t)| dt \\ &+ |A^{-}| \int_{a}^{2a - x} |q(t)| dt + |A^{-}| \int_{2a - x}^{+\infty} |q(t)| dt \right] \\ &\leq 2C^{2}(1 + \sigma_{1}(x)) e^{-Im\lambda x + C\sigma_{1}(x)} \sigma(x) \,. \end{split}$$

Note that for all real $\lambda \neq 0$ the functions $e(\lambda, x)$ and $e(-\lambda, x)$ are linearly independent solutions $(x \neq a)$ of equation (2.1) with the wronskian

$$\omega\left[e(\lambda, x), e(-\lambda, x)\right] = e(\lambda, x), e'(-\lambda, x) - e'(\lambda, x), e(-\lambda, x) = -2i\lambda.$$

Let the function $\omega(\lambda, x, \infty) = O(x), x \to 0$ satisfies the integral equation

$$\omega(\lambda, x, \infty) = S_0(x, \lambda) + \int_0^x S(x, t, \lambda) q(t) \omega(\lambda, t, \infty) dt, \qquad (2.19)$$

where

$$S_{0}(x,\lambda) = \begin{cases} \frac{\sin \lambda x}{\lambda}, & 0 \le x < a, \\ A^{+} \frac{\sin \lambda x}{\lambda} - A^{-} \frac{\sin \lambda (2a - x)}{\lambda}, & x > a, \end{cases}$$
$$S(x,t,\lambda) = \begin{cases} \frac{\sin \lambda (x - t)}{\lambda}, & a < t \le x, \text{ or } 0 \le t \le x < a, \\ A^{+} \frac{\sin \lambda (x - t)}{\lambda} + A^{-} \frac{\sin \lambda (x + t - 2a)}{\lambda}, & 0 \le t \le a < x. \end{cases}$$

It is clear that $\omega(\lambda, x, \infty)$ is the solution of the equation (2.1) with the discontinuity conditions (2.2) and the conditions

$$\omega(\lambda, x, \infty) = x \left(1 + o(1)\right), \ \omega'(\lambda, x, \infty) = 1 + o(1), \quad x \to 0$$

(see [17]).

Let us show that the solution $\omega(\lambda, x, \infty)$ is a entire function of the parameter λ and satisfies the inequalities the following inequality for all $Im\lambda \ge 0$, $x \ne a$;

$$\left|\omega(\lambda, x, \infty)e^{i\lambda x}\right| \le C x e^{\int_{0}^{1} t|q(t)|dt},$$
(2.20)

$$\left| \left[\lambda \omega(\lambda, x, \infty) - \lambda S_0(x, \lambda) \right] e^{i\lambda x} \right| \le C \left[\sigma_1(0) - \sigma_1\left(\frac{1}{|\lambda|}\right) \right] e^{C \int_0^{\hat{f}} t|q(t)|dt},$$
(2.21)

where $C = A^+ + |A^-|$.

Let

$$\omega(\lambda, x, \infty) = x e^{-i\lambda x} Z(\lambda, x), \quad Im\lambda \ge 0.$$
(2.22)

Then, we have the following equation for the function

$$Z(\lambda, x) = \frac{S_0(x, \lambda)e^{i\lambda x}}{x} + \int_0^x \frac{S(x, \lambda)e^{i\lambda(x-t)}}{x}tq(t)Z(\lambda, t)dt$$

 ∞

We apply the method of successive approximation to the integral equation to find the solution $Z(\lambda, x)$. Put

$$Z(\lambda, x) = \sum_{k=0}^{x} Z_k(\lambda, x), \qquad (2.23)$$

$$Z_0(\lambda, x) = \frac{S_0(x, \lambda)e^{i\lambda x}}{x}, \qquad (2.24)$$

$$Z_k(\lambda, x) = \int_0^x \frac{S(x, t, \lambda)e^{i\lambda(x-t)}}{x} tq(t)Z_{k-1}(\lambda, t)dt, \quad k = 1, 2, \dots$$

 $0 \le x \le a$, we have

$$|Z_0(\lambda, x)| = \left|\frac{\sin \lambda x}{\lambda x}e^{i\lambda x}\right| \le 1, \quad (Im\lambda \ge 0)$$

and if x > a we have for $Im\lambda \ge 0$

$$Z_0(\lambda, x)| = \left| A^+ \frac{\sin \lambda x}{\lambda x} e^{i\lambda x} - A^- \frac{\sin \lambda (2a - x)}{\lambda x} e^{i\lambda x} \right|$$

$$\leq A^+ + |A^-| = C.$$

Therefore, we have for all $Im\lambda \ge 0$, $x \ne a$

$$|Z_0(\lambda, x)| \le C, \tag{2.25}$$

where $C = A^+ + |A^-| = \max\left(\alpha, \frac{1}{\alpha}\right)$.

By the similar way we obtain for all $Im\lambda \ge 0$, $0 \le t \le x$ and $x \ne a$ that

$$\frac{S(x,t,\lambda)}{x}e^{i\lambda(x-t)} \le 1 - \frac{t}{x} \le 1 \text{ if } a < t \le x \text{ or } 0 \le t \le x < a$$

and

$$\left|\frac{S(x,t,\lambda)}{x}e^{i\lambda(x-t)}\right| \le C, \text{ if } 0 \le t \le a \le x.$$

Therefore,

$$\left|\frac{S(x,t,\lambda)}{x}e^{i\lambda(x-t)}\right| \le C,$$
(2.26)

for all $Im\lambda \ge 0$, $0 \le t \le x$ and $x \ne a$.

Because of (2.25) and (2.26) we obtain from the (2.24) that

$$|Z_k(\lambda, x)| \leq \frac{C^{k+1}}{k!} \left(\int_0^x t |q(t)| \, dt \right)^k, \ Im\lambda \geq 0, \ x > 0, \ x \neq a.$$

Then, we observe that the series (2.23) uniformly converges in the region $Im\lambda \ge 0$, $x \in [0, a) \cup (a, b]$ for any b > 0. For the $Z(\lambda, x)$ of the series (2.23) we have

$$|Z(\lambda, x)| \le C e^{C \int_{0}^{t} lq(t)|dt}.$$
(2.27)

Now, from (2.22) and (2.27) we obtain (2.20). Therefore, the solution $\omega(\lambda, x, \infty)$ is an analytic function of λ ($Im\lambda > 0$) and it is continuous in the closed upper plane $Im\lambda \ge 0$.

For the solution similar way, we prove that the solution $\omega(\lambda, x, \infty)$ is analytic function of the parameter λ in the half plane $Im\lambda < 0$ and it is continuous in the closed half plane $Im\lambda \leq 0$. Hence the solution $\omega(\lambda, x, \infty)$ is an entire function of the parameter λ .

Now, let us prove the estimation (2.21). From the equation (2.19) and the estimation (2.20) we have

$$\begin{split} |\omega(\lambda, x, \infty) - S_0(x, \lambda)| &\leq C x \int_0^x t |q(t)| \, dt e^{|Im\lambda x| + C \int_0^x t |q(t)| dt}, \\ \left|\omega'(\lambda, x, \infty) - C_0(x, \lambda)\right| &\leq C \int_0^x t |q(t)| \, dt e^{|Im\lambda x| + C \int_0^x t |q(t)| dt}, \end{split}$$

where

$$C_0(x,\lambda) = \begin{cases} \cos \lambda x, & 0 \le x < a \\ A^+ \cos \lambda x + A^- \cos \lambda (2a-x), & x > a. \end{cases}$$

Using again the (2.19) and (2.27), we obtain in $Im\lambda \ge 0$

$$\begin{aligned} |\omega(\lambda, x, \infty) - S_0(x, \lambda)| &\leq \int_0^x \left| S(x, t, \lambda) e^{i\lambda(x-t)} \right| t |q(t)| Z(\lambda, t) dt \\ &\leq C \int_0^x t |q(t)| e^{C \int_0^t s |q(s)| ds} dt \\ &= e^{C \int_0^t t |q(t)| dt} - 1. \end{aligned}$$

In particular, we have

$$\left| \left[\lambda \omega(\lambda, x, \infty) - S_0(x, \lambda) \right] e^{i\lambda x} \right| \le \left(C \int_0^x t \left| q(t) \right| dt \right) e^{C \int_0^x t \left| q(t) \right| dt},$$

$$\left| \lambda \omega(\lambda, x, \infty) e^{i\lambda x} \right| \le e^{C \int_0^x t \left| q(t) \right| dt}.$$
(2.29)

Now, let $Im\lambda \ge 0$ and $|\lambda|^{-1} < x$.

Then, from (2.19), (2.27) and (2.29) we have

$$\begin{split} \left| \left[\lambda \omega(\lambda, x, \infty) - S_0(x, \lambda) \right] e^{i\lambda x} \right| &\leq \int_0^x \left| \lambda S(x, t, \lambda) e^{i\lambda(x-t)} \right| \left| q(t) \right| e^{i\lambda t} \omega(\lambda, t, \infty) dt \\ &\leq \left[C \int_0^{\left| \lambda \right|^{-1}} t \left| q(t) \right| dt + C \left| \lambda \right|^{-1} \int_{\left| \lambda \right|^{-1}}^x \left| q(t) \right| dt \right] e^{C \int_0^x t \left| q(t) \right| dt} \\ &= C \left(\sigma_1(0) - \sigma_1\left(\frac{1}{|x|}\right) \right) e^{C \int_0^x t \left| q(t) \right| dt} . \end{split}$$

Hence, the estimation (2.21) holds for $x > |\lambda|^{-1}$. Let $x \le |\lambda|^{-1}$. Then, the estimation (2.21) is obtained from the (2.28) because of

$$\int_{0}^{x} t |q(t)| dt = -x\sigma(x) + \int_{0}^{x} \sigma(t) dt$$
$$\leq \sigma_{1}(0) - \sigma_{1}(x) \leq \sigma_{1}(0) - \sigma_{1}\left(\frac{1}{|\lambda|}\right).$$

Consequently, we have proved the following theorem.

Theorem 2.3. For all values of the parameter λ the equation (2.1) has solution $\omega(\lambda, x, \infty)$ satisfying the discontinuity conditions (2.2) and the conditions

$$\omega(\lambda, x, \infty) = x (1 + o(1)), \ \omega_x(\lambda, x, \infty) = 1 + o(1), \ x > 0, \ x \to 0.$$

The solution $\omega(\lambda, x, \infty)$ is an entire function with respect to λ and for $Im\lambda \ge 0$ the inequalities (2.20) and (2.21) are hold.

3. DERIVATION OF THE FUNDAMENTAL EQUATION

To derive the fundamental equation, we use the equality

$$-\frac{2i\lambda\omega(\lambda,x)}{e(\lambda,0)} = e(-\lambda,x) - S(\lambda)e(\lambda,x),$$

which was obtained Lemma 3.1.5. in [2]. Here $e(\lambda, x)$ has a Jost solution, regular with respect to λ in the upper half-plane $Im\lambda > 0$, continuous for $Im\lambda \ge 0$ and representable in the form (2.4), so that

$$-2i\lambda\omega(\lambda, x)\left\{\frac{1}{e(\lambda, 0)} - \frac{1}{e_0(\lambda, 0)}\right\} - \frac{2i\lambda}{e_0(\lambda, 0)}\left\{\omega(\lambda, x) - \omega_0(\lambda, x)\right\}$$

$$= \int_x^\infty K(x, t)e^{-i\lambda t}dt + \left\{S_0(\lambda) - S(\lambda)\right\}$$

$$\times \left\{e_0(\lambda, x) + \int_x^\infty K(x, t)e^{i\lambda t}dt\right\} - S_0(\lambda)\int_x^\infty K(x, t)e^{i\lambda t}dt,$$
(3.1)

where

$$S_0(\lambda) = \frac{e_0(-\lambda, 0)}{e_0(\lambda, 0)}, \quad S(\lambda) = \frac{e_0(\lambda, 0)}{e_0(-\lambda, 0)},$$

$$\omega_0(\lambda, x) = \begin{cases} \frac{\sin \lambda x}{\lambda}, & 0 < x \le a \\ \alpha^+ \frac{\sin \lambda x}{\lambda} + \alpha^- \frac{\sin \lambda (x - 2a)}{\lambda} & x > a \end{cases}$$

is the solution of the equation $-y'' = \lambda^2 y$ satisfying conditions (2.2) and $\omega_0(\lambda, 0) = 0$, $\omega'_0(\lambda, 0) = 1$. As was shown in Lemma 1.3.7 in [2], $S_0(\lambda) - S(\lambda)$ is a Fourier transform of the function

$$F_{s}(y) = \frac{1}{2\pi} \int_{-\infty}^{\infty} \left[S_{0}(\lambda) - S(\lambda) \right] e^{-i\lambda y} d\lambda.$$
(3.2)

Next, since

$$S_0(\lambda) = \frac{\alpha^+ + \alpha^- e^{-2i\lambda a}}{\alpha^+ + \alpha^- e^{2i\lambda a}} = \left(1 + \frac{\alpha^-}{\alpha^+} e^{-2i\lambda a}\right) \left[1 - \frac{\alpha^-}{\alpha^+} e^{2i\lambda a} + \left(\frac{\alpha^-}{\alpha^+}\right)^2 e^{4i\lambda a} \dots\right]$$

we have

$$\frac{1}{2\pi} \int_{-\infty}^{\infty} S_0(\lambda) e^{i\lambda t} d\lambda = \delta(t) + \frac{\alpha^-}{\alpha^+} \delta(t-2a) - \left(\frac{\alpha^-}{\alpha^+}\right)^2 \delta(t) - \left[\frac{\alpha^-}{\alpha^+} - \left(\frac{\alpha^-}{\alpha^+}\right)^3\right] \delta(t+2a).$$

Let $i\lambda_k (k = \overline{1, n})$ be the zeros of the function $e(\lambda, 0)$, numbered in the order of increase of their modula $(0 < \lambda_1 < \lambda_2 < \ldots < \lambda_n)$, and let m_k^{-1} be the norm of the function $e(i\lambda_k, x)$ in $L_2[0, \infty)$. Moreover as $x \to \infty$ these solutions satisfy the asymptotic formulae;

$$u(\lambda, x) = e^{-i\lambda x} - S(\lambda)e^{i\lambda x} + o(1), \ (\lambda \in \mathbb{R} \setminus \{0\})$$
(3.3)

$$u(i\lambda_k, x) = m_k e^{-\lambda_k x} (1 + o(1)), \ \left(k = \overline{1, n}\right).$$
(3.4)

A totality of quantities { $S(\lambda), \lambda_k, m_k$ } is said to be scattering data of problem (2.1)-(2.3).

Thus, the scattering data completely determines the behavior of the normed eigenfunctions of problem (2.1)-(2.3).

The inverse scattering problem for boundary value problem (2.1)-(2.3) consists of reconstruction of the function q(x) by the scattering data.

As was shown in [2], multiplying the both hand sides of equality (2.1) by $\frac{1}{2\pi}e^{i\lambda y}$ and integrating with respect to $-\infty < \lambda < \infty$ and taking into account (2.2) and (2.3) in the right hand side, we get

$$K(x, y) + F_{1s}(x, y) + \int_{x}^{+\infty} K(x, t) F_{s}(t + y) dt - \left[1 - \left(\frac{\alpha^{-}}{\alpha^{+}}\right)^{2}\right] K(x, -y) - \frac{\alpha^{-}}{\alpha^{+}} K(x, 2a - y) + \left[\frac{\alpha^{-}}{\alpha^{+}} + \left(\frac{\alpha^{-}}{\alpha^{+}}\right)^{3}\right] K(x, -y - 2a),$$
(3.5)

where

$$F_{1s}(x,y) = \begin{cases} F_s(x+y), & x > a \\ \alpha^+ F_s(x+y) + \alpha^- F_s(2a-x+y), & 0 < x \le a \end{cases}$$

Hence, for the y > x, the expression (3.5) takes the form

$$K(x,y) + F_{1s}(x,y) + \int_{x}^{+\infty} K(x,t)F_{s}(t+y)dt + \frac{\alpha^{-}}{\alpha^{+}}K(x,2a-y).$$
(3.6)

Consequently, the integral of the product of the left-hand side of identity (3.1) and $\frac{1}{2}e^{i\lambda y}$, taken over the real line $-\infty < \lambda < \infty$, must equal (3.6). Let us show that for x > y, this integral converges and can be calculated by contour integration. In fact, the first term in the integral,

$$-2i\lambda\omega(\lambda,x)\left\{\frac{1}{e(\lambda,0)}-\frac{1}{e_0(\lambda,0)}\right\}$$

is regular everywhere in the upper plane, apart from a finite number of points $i\lambda_k$ $(k = \overline{1, n})$, which are simple zeros of the function $e(\lambda, 0)$: moreover it is continuous for real $\lambda \neq 0$ and bounded in a neighborhood of $\lambda = 0$ ($Im\lambda \ge 0$). Furthermore, since the function $\lambda\omega(\lambda, x)e^{i\lambda x}$ is bounded in the half plane $Im\lambda \ge 0$, and since the function $\frac{1}{e(\lambda,0)} - \frac{1}{e_0(\lambda,0)}$ tends uniformly to zero in this half plane as $|\lambda| \to \infty$, an application of Jordan's Lemma yields, for y > x we get

$$I = \sum_{k=1}^{n} \frac{2i\lambda_{k}\omega(i\lambda_{k},x)}{e(i\lambda_{k},0)} = -\sum_{k=1}^{n} m_{k}^{2} e(i\lambda_{k},x) e^{-\lambda_{k}y}$$

= $-\sum_{k=1}^{n} m_{k}^{2} e_{0}(i\lambda_{k},x) e^{-\lambda_{k}y} - \int_{x}^{+\infty} K(x,t) \sum_{k=1}^{n} m_{k}^{2} e^{-\lambda_{k}(t+y)} dt$

the second term in the integral in question $\frac{2i\lambda}{e_0(\lambda,0)} \{\omega(\lambda, x) - \omega_0(\lambda, x)\}$ is an entire function of λ and Jordan's Lemma,

$$\int_{-\infty}^{\infty} \frac{2i\lambda}{e_0(0,\lambda)} \left\{ \omega(\lambda, y) - \omega_0(\lambda, y) \right\} e^{-i\lambda y} dy = 0$$

for y > x. Equating I and expressions from (3.6) we get the fundamental equations of the inverse problem for K(x, t)

$$K(x,y) - \frac{\alpha^{-}}{\alpha^{+}}K(x,2a-y) + F_{1}(x,y) + \int_{x}^{+\infty} K(x,t)F(t+y)dt = 0, \ y > x,$$
(3.7)

where

$$F(y) = F_{s}(y) + \sum_{k=1}^{n} m_{k}^{2-\lambda_{k}y},$$

$$F_{1}(x, y) = \begin{cases} F(x+y), & x > a \\ \alpha^{+}F(x+y) + \alpha^{-}F(2a-x+y), & 0 \le x \le a. \end{cases}$$
(3.8)

We have thus proved the following result:

Theorem 3.1. The kernel K(x, t) of the transformation operator satisfies the fundamental equation (3.7).

Equation (3.7) plays an important part in solving the inverse problem of the scattering theory. In terms of the scattering data, the potential q(x) is recovered uniquely. In fact, given the scattering data, one can construct the function F(y) via formula (3.8) and then write the fundamental equation (3.7). If the fundamental equation has a unique solution for every $x \ge 0$, then the solution is the kernel K(x, y) of the transformation operator, and hence the potential q(x) is form formulas (2.7), (2.8).

4. SOLVABILITY OF THE FUNDAMENTAL EQUATION

From the property of the function $F_s(x)$ and from the form F(x) it follows that for each fixed $x \ge 0$, the operator

$$(F_x f)(y) = \int_x^{+\infty} F(t+y)f(t)dt$$

acting in the space $L_1(x, +\infty)$ (also in $L_2(x, +\infty)$) is completely continuous.

In the fundamental equation we'll consider the kernel K(x, t) as unknown and consider it as Fredholm type equation in the space $L_2(x, +\infty)$ (or $L_1(x, +\infty)$) for each fixed x. At first, we show that for each fixed $x \ge 0$, the operator

$$(M_x f)(y) = \begin{cases} f(y), & x > a\\ f(y) - \frac{\alpha^-}{\alpha^+} f(2a - y) & 0 \le x \le a \end{cases}$$

acting in the space $L_2(x, +\infty)$ is invertible.

It suffices to consider the case $0 \le x \le a$. Let's consider the equation

$$f(y) - \frac{\alpha^{-}}{\alpha^{+}}f(2a - y) = g(y).$$
 (4.1)

Making substitution $y \rightarrow 2a - y$, hence we have

$$f(2a - y) - \frac{\alpha^{-}}{\alpha^{+}} f(y) = g(2a - y).$$
(4.2)

From the system of equations (4.1)-(4.2) we get

$$f(y) = \frac{\alpha^+}{4} \left[\alpha^+ g(y) + \alpha^- g(2a - y) \right],$$

i.e., the operator M_x has the inverse. From the last formula, we have

$$\int_{x}^{+\infty} |f(y)|^2 \, dy \le C \int_{x}^{+\infty} |g(y)|^2 \, dy,$$

where C are some constants. Thus, we proved that for each fixed $x \ge 0$, the operator M_x is invertible in the space $L_2(x, +\infty)$.

Now, let's denote that the fundamental equation is equivalent to the equation

$$K(x, y) + M_x^{-1}F_1(x, y) + M_x^{-1}(FK(x, \cdot))(y) = 0, \quad y > x$$

i.e., to the equation with completely continuous operator, since $M_x^{-1}F$ is a completely continuous operator.

Thus, in order to prove the solvability of the fundamental equation, it suffices to show that the homogeneous equation

$$f_x(y) + M_x^{-1} (F f_x) (y) = 0,$$

i.e., the equation

$$f_x(y) - \frac{\alpha^-}{\alpha^+} f_x(2a - y) + \int_x^{+\infty} f_x(t) F(t + y) dt = 0, \quad y > x$$
(4.3)

has only a zero solution $f_x(\cdot) \in L_2(x, +\infty)$.

We multiply the equation (4.3) by $f_x(y)$ and integrate with respect to y in the interval $(x, +\infty)$. As the result, according to (3.2) and (3.8) we get

$$\int_{x}^{+\infty} |f_{x}(y)|^{2} dy - \frac{\alpha^{-}}{\alpha^{+}} \int_{x}^{+\infty} f_{x}(2a - y)\widetilde{f_{x}}(y)dy$$
$$+ \frac{1}{2\pi} \int_{-\infty}^{+\infty} [S_{0}(\lambda) - S(\lambda)] \widetilde{f}(-\lambda)\widetilde{f}(\lambda)d\lambda + \sum_{k=1}^{n} m_{k}^{2} \left|\widetilde{f}(-i\lambda_{k})\right|^{2} = 0,$$

where

$$\widetilde{f}(\lambda) = \int_{-\infty}^{+\infty} f_x(y) e^{-i\lambda y} dy.$$

Here, taking into account the equality (see (3.2))

$$\frac{\alpha^{-}}{\alpha^{+}}\int_{x}^{+\infty}f_{x}(2a-y)\widetilde{f}_{x}(y)dy = \frac{1}{2\pi}\int_{-\infty}^{+\infty}S_{0}(\lambda)\widetilde{f}(-\lambda)\overline{\widetilde{f}(\lambda)}d\lambda,$$

and also Parseval equality

$$\int_{x}^{+\infty} |f_x(y)|^2 \, dy = \frac{1}{2\pi} \int_{-\infty}^{+\infty} \widetilde{f}(\lambda) \overline{\widetilde{f}(\lambda)} d\lambda.$$

We finally have

$$\sum_{k=1}^{n} m_{k}^{2} \left| \widetilde{f}(-i\lambda_{k}) \right|^{2} + \frac{1}{2\pi} \int_{-\infty}^{+\infty} \left\{ \widetilde{f}(\lambda) - S(\lambda)\widetilde{f}(-\lambda) \right\} \overline{\widetilde{f}(\lambda)} d\lambda = 0.$$
(4.4)

Since $|S(\lambda)| = 1$, then by the Cauchy-Bunyakovskii inequality

$$\left|\int_{-\infty}^{+\infty} S(\lambda)\widetilde{f}(-\lambda)\overline{\widetilde{f}(\lambda)}d\lambda\right| \leq \int_{-\infty}^{+\infty} \left|\widetilde{f}(\lambda)^{2}\right|d\lambda$$

Consequently, the second term at the left hand side of (4.4) is non-negative. Therefore, from equality (4.4) we have

$$\begin{split} &\widetilde{f}(-i\lambda_k) = 0, \quad k = \overline{1, n}, \\ &\int_{-\infty}^{+\infty} \left\{ \widetilde{f}(\lambda) - S(\lambda)\widetilde{f}(-\lambda) \right\} \overline{\widetilde{f}(\lambda)} d\lambda = 0. \end{split}$$

Assuming $z(\lambda) = \tilde{f}(\lambda) - S(\lambda)\tilde{f}(-\lambda)$, we see that this function is orthogonal to the function $\tilde{f}(\lambda)$. But then,

$$\left\|\widetilde{f}(\lambda)\right\|^{2} = \left\|S(\lambda)\widetilde{f}(-\lambda)\right\|^{2} = \left\|\widetilde{f}(\lambda) - z(\lambda)\right\|^{2} = \left\|\widetilde{f}(\lambda)\right\|^{2} + \left\|z(\lambda)\right\|^{2},$$

that is possible only for $z(\lambda) = 0$. So, we have

$$\widetilde{f}(-i\lambda_k) = 0, \quad k = \overline{1, n},$$
(4.5)

$$\widetilde{f}(\lambda) = S(\lambda)\widetilde{f}(-\lambda). \tag{4.6}$$

By definition $S(\lambda)$ substituting at in (4.6), we have

$$\frac{\widetilde{f}(\lambda)}{e(-\lambda,0)} = \frac{\widetilde{f}(-\lambda)}{e(\lambda,0)}, \qquad -\infty < \lambda < +\infty.$$

Hence, it follows that $\frac{\hat{f}(\lambda)}{e(-\lambda,0)}$ is a meromorphic function on the whole of complex plane and has poles of first order in the zeros of the function $e(\lambda, 0)$. Consequently,

$$\frac{\widetilde{f}(-\lambda)}{e(\lambda,0)} = \sum_{k=1}^{n} \frac{1}{\lambda - i\lambda_k} \frac{\widetilde{f}(-i\lambda_k)}{e(i\lambda_k,0)} + \psi(\lambda),$$

where $\psi(\lambda)$ is an entire function. It follows from (4.5) that

$$\frac{\widetilde{f}(-\lambda)}{e(\lambda,0)} = \psi(\lambda)$$

Obviously, as $|\lambda| \to \infty$ the left hand side tends to zero. Consequently, $\psi(\lambda) \equiv 0$. Then we have $\tilde{f}(-\lambda) = 0$, i.e. $f_x(y) = 0$.

We have thus proved the following result:

Theorem 4.1. Fundamental equation (3.7) has a unique solution $K(x, \cdot) \in L_2(x, +\infty)$.

Corollary 4.2. The potential q(x) is uniquely determined by the scattering data.

Algorithm: Given a collection of scattering data $\{S(\lambda), \lambda_k, m_k\}$ satisfying the conditions of (3.3) and (3.4), we con-

struct the function $F_s(y)$ by (3.2) and the functions F(y) and $F_1(x,y)$ by (3.8) and consider the fundamental equation of the inverse problem for K(x,t) by (3.7). Solving integral equation (3.7) we find K(x,t) Next, and find α by (2.10) and (2.11), consequently q(x) by (2.7) and (2.8).

CONFLICTS OF INTEREST

The authors declare that there no conflicts of interest regarding the publication of this paper.

AUTHORS CONTRIBUTION STATEMENT

The authors contributed equally to this study. All authors have read and agreed to the published version of the manuscript.

References

- [1] Agranovich, Z.S., Marchenko, V.A., The Inverse Problem of Scaterring Theory, New York: Gordonand Breach, 1963.
- [2] Agranovich, Z.S., Marchenko, V.A., Sturm Liouville Operators and Their Applications, Naukova Dumka, Kiev, 1977, English transl.: Birkhäuser, 1986.
- [3] Akhmedova, E.N., Huseynov, H.M., On inverse problem Sturm-Liouville operator with discontinuous coefficients, Izvestiya of Saratov University. Mathematics Mechanics Informatics, 10(1)(2010), 3–9.
- [4] Amirov, R.Kh., On Sturm-Liouville operators with discontinuity conditions inside an interval, J. Math. Anal. Appl. 317(1)(2006), 163–176.
- [5] Faydaoğlu, Ş., Guseinov, G.Sh., An expansion result for a Sturm-Liouville eigenvalue problem with impulse, Turkish Journal of Mathematics, 34(3)(2010), 355–366.
- [6] Gelfand, I.M., Levitan, B.M., On the determination of a differential equation from its spectral function, Izv. Akad. Nauk SSR. Ser. Mat. 15(1951), 309–360 (in Russian), English transl. in Amer. Math. Soc. Transl. Ser. 2(1)(1955), 253–304.
- [7] Guseinov, I.M., Osmanova, J.A., On Jost solutions of Sturm-Liouville equations with discontinuity conditions, Trans. Natl. Acad. Sci. Azerb. Ser. Phys.-Tech. Math. Sci., Math. Mech., 27(1)(2007), 63–70.
- [8] Guseinov, I.M., Mammadova, L.I., Reconstruction of the diffusion equation with singular coefficients for two spectra, Doklady Mathematics, 90(1)(2014), 401–404.
- [9] Guseinov, I.M., Dostuyev, F.Z., On determination of Sturm-Liouville operator with discontinuity conditions with respect to spectral data, Proceedings of the Institute of Mathematics and Mechanics, National Academy of Sciences of Azerbaijan, 42(2)(2016), 143–153.
- [10] Hald, O.H., Discontinuous inverse eigenvalue problems, Communications on Pure and Applied Mathematics, 37(5)(1984), 539-577.
- [11] Ignatyev M., Inverse scattering problem for Sturm-Liouville operator on non-compact A-graph. Uniqueness result, Tamkang Journal of Mathematics, 46(4)(2015), 401–422.
- [12] Krueger, R.J., An inverse problem for an absorbing medium with multiple discontinuities, Quarterly of Applied Mathematic, **34**(1978), 235–253.
- [13] Krueger, R.J., *Inverse problems for nonabsorbing media with discontinuous material properties*, Journal of Mathematical Physics, **23**(1982), 396–404.
- [14] Levitan, B.M., Inverse Sturm-Liouville Problems, 1984. Moscow: Nauka, (Engl. Transl.1987 (Utrecth: VNU Science Press)).
- [15] Litvinenko, O.N., Soshnikov, V.I., The theory of Heterogeneous Lines and Their Applications in Radio Engineering, Radio, Moscow, 1964, (in Russian).

- [16] Mammadova, L.I., *Representation of the solution of Sturm-Liouville equation with discontinuity conditions interior to interval*, Proceedings of IMM of NAS of Azerb., **33**(2010), 127–136.
- [17] Marchenko, V.A., Some problems in the theory of second-Order differential operators, Doklady Akad., Nauk SSSR., 72(1950), 457–560.
- [18] Meschanov, V.P., Feldstein, A.L., Automatic Design of Directional Couplers, Sviaz, Moscow, 1980.
- [19] Mukhtarov, O.Sh., Kandemir, M., Asymptotic behaviour of eigenvalues for the discontinuous boundary-value problem with functionaltransmission conditions, Acta Mathematica Scientia, 22(3)(2002), 335–345.
- [20] Mukhtarov, O.Sh., Aydemir, K., Eigenfunction expansion for Sturm-Liouville problems with transmission conditions at one interior point, Acta Mathematica Scientia, 35(3)(2015), 639–649.
- [21] Newton, R.G., Inversion of reflection data for layered media: a review of exact methods Geophys. J. R.Aslron. Soc. 65(1981), 191–215.
- [22] Osmanova, J.A., On scattering data for discontinuous Sturm-Liouville operator, Transactions of NAS of Azerbaijan, 27(4)(2007), Math. Mech., 73–80.
- [23] Pöschel, J., Trubowitz, E., Inverse Spectral Theory, Academic Press, Orlando, 1987.
- [24] Yang, C.F., Bondarenko, N.P., *Local solvability and stability of inverse problems for Sturm-Liouville operators with a discontinuity*, Journal of Differential Equations **268**(10)(2020) 6173–6188.
- [25] Yang, C.F., Yurko, V., Zhang, R., On the Hochstadt-Lieberman problem for the Dirac operator with discontinuity, Journal of Inverse and Ill-Posed Problems (2020, In Press).
- [26] Zhang, R., Xu, X.C., Yang, C.F., Bondarenko, N., *Determination of the impulsive Sturm-Liouville operator from a set of eigenvalues*, Journal of Inverse and Ill-Posed Problems, (2019, In Press).
- [27] Zhang, R., Sat, M., Yang, C.F., Inverse nodal problem for the Sturm-Liouville operator with a weight, Applied Mathematics-A Journal of Chinese Universities, **35**(2)(2020), 193–202.